Advanced Algebra - Chapter 6 Review

Name KE A Period
1. List all possible rational zeros of the function 1. X=*[,+ 2 * 4 2 * 2.1y
f(x) @(3 + 2x% + 16X+ 8) Do not find the zeros.
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2. Solve the f())éaL‘(’)wing equation, giving exact 2. X= )\ 3 -3
answers: x+9=0. No Calc.
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3. Solve the !ollowmg equation, giving exact 3. X=2 3-3
Cheds #2233, 54, +aqn§/\gers®x °-2x'-9x,> 518. No Calc.
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Solve the foIIowmg equation; g exact 4, X= | _*Tila
answers: x*+x*=2. No Calc.

@+x -22-0O

L’ ToTaxl Zéeres:

Factor (X *D\YX _I>:O X‘_E)Eﬂ))
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Solve x> .zi ’3:9
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5.

Solve the following equation, giving exact

5. Xz /4 pgud -2
answers: x°—12x= .28. No Calc.
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(x =14 ) x+2 )= O
l \

X=-14=0 X+a2=0o
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Solve the following equation, giving exact
answers: (x —2)% + 64'= 72q No Calc.
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Find the zeros an
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ultiplicity of zeros of the
function: f(x) = 2x>~ 12x* + 18x°. (No calc)

Factor GCF ,?xg(X _(Ox-l—oIB =6

Qj?(x-zyx-3>=o
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8. Solve the following equation, giving exact

answers: x* + x>+ 2x° + 42(;:@ YES Calc.
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Write the following polynomial in standard form.
Also classify number of te ms and degree.

it
Polynomial: ()(% 2x +3) + ) Add +he
OWDS 4R
A+ %

CQuad?m-t:_L/}

9.

10. Write the following polynomial in standard form.

Also classify it by number of terms and

- and degree.
Polynomial: (6x° + 3x> —=5% — 1) + (7x° ysf 1 6)

—/x3+3xa+5'

11. Write the following polynomial in standard form.
Also classify it b f terms and degree.

Polynomial: (2x +M)1 0) Distribute

Rs = 20x + 12x72- 3D

X=0 multiplieidy of 5
X=z = mul-l-.‘};\-'c.’-l}/ of 2

5 toTaL Zeros:

[67 [o] [&) [37 [57

8. 2.

o 2o - [, [1],

= "?\ ]\ \_2'.

9. Standard
form: A + &
Name by degree: L.’v\ear
Name by
number of terms: B;nom;a l
10. Standard 2 .
form: —x + 3x +5&

Cubic

Name by degree:

Name by

number of terms:  Jrinomin |

11. Standard

form: 2><3+ IQXQ—QOX— 3O

Cubfc

Name by degree:

Name by
number of terms:
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12.

13.

14,

15.

L{><+Il <2+ 1A%+ O + G
X +3x%) #P
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Use the graph below to approximate any 12. Max(s): (— o,q:o.qB and ( 0.9, o.q>
relative minimums and maximums.

Mins): _ (D.-2)
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Use the graph below to approximate any 13. Max(s): (O) - R 5
relative minimums and maximums.
2K, Min(s): _(-0.9.-3.1) and /o.m-s-;)
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Divide(x4+9x3—4x—1L);(x+5). No Calc 14. X * |>< - 205+9b + x+5
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Divide (12x° + 19x” + 8x + 6) + (4x + 1). No Calc 15. Sx"+Hx + 1+ Yxs |

3><2+ L’X + |+_§__ ;( ’x L°:7 o(fv-'de

Yxs |

IWP
+ ( + L[X)

page 3—-R - AA-U1C6



16. Three of the roots of a polynomial are -1, 5, —4i. 16.
What are all of the roots of this polynomial?

Write the function in fa form. No Calc.
in factared
(}=4 (x 44, )
X +\q\< — 1l ‘
+ )b

Two of the roots of a polynomial are — J3 and 7i.

What are all of the factors of this polynomial?
Explain. No Calc.

(x@ﬁ)(@%)

17. 17.
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18. Desane th/%nd behavior of the function 18.
f(x) =@)@— 8x* + 10x® by filling in the blanks
at right. No Calc.
19. Write a possible function in factored form 19.
f e graph shown below-—No Calc.
Yi
A\
20. Describe the end behavior of the graph in #19. No Calc
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Roots: ><: ‘-I\S\—L]L‘)

4

Factored Form:

(x4 1) (x=8 )5+ 16D

Factors: (X o 3><>& l-l' L{q )

Explanation:

Trrational Boot+ Theorem

COM'p|cX Koo+ T heoverm - -

L's and S?.\foo-l—r COe 1A

Pa e
limfix)=_ O uP
limfix)=_— 02  Down

X—>+0

F6) = x (e se=2)™

X2 -1, 0, 2 fualiiphy 2)

I'Zepz»kca/’ Zeve Touwdhes X-a&xxis and lbbounce ¢ ﬁ_!ot(,la

20. limf(x)= &GO

xX—>—0

JP

imfx)= O

X—>+00

upP



21.

22.

Determine if (x — 4) is a factor of the 21. L{ (s et o 2ers god
function f(x) = x* — 3x* +5x — 8. How does
this method shown if this or is not a factor? (X—L{> 1S ot o 1Ca Cto-.

No Calc. _ -
L{ l ° . _5 ?? The \Zévvxaim/{er T hevre nn _Sm/\/f
4 L 52 24 —l—LQ re'\/‘a;ha(.(_r N~bi{+ be Zero
b 1257 Ll_ﬁg 0-F-I—£f O\]V;J:V\ Ja/ 4he
PD>S':L[L ‘Fa(fgf.

The average amount of tangarines (t in pounds)
eaten per person each year in the United
States from 2001 to 2006 can be modeled

by t = 0.298)° — 1.73y* + 2.05y + 4.45 where

y is the number of years since 2001. Using
your graphing calculator:

a. Graph the function and identify the relative a.
minimum and relative maximum where

O=sy=<4.
Relative minimum: (3'“'\ \ g-O[’>

Relative maximum: (O~73, S.] ‘43

b. What is the real-life meaning of the relative
minimum?

2004 was +he Sw~a l|esd a\g.amou‘«—l

ot ‘l—atfjer{/\u ea+en ‘F:fow 2001= 2000 .
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c. What is the real-life meaning of the relative S

maximum? Aoul 02 03 0Y 03 o,

20D WaL —!lxa Iar‘qe.(—l— AV]. Emou nd

O‘F +angernes eaten ‘F;ow 200 1- 24000 .
J
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23.

Use your graphing calculator to sketch a graph on the interval -5 < x < 3 and find the
coordinates of the zero(s), relative maximum(s), and relative minimums(s) of the function listed
below. Also identify the end behavior of the graph of the function.

Function: f(x) = 0.25x> + 0.755x* — 1.06x — 1.17

a. Sketch:
A
< NI >
v
b. Zero(s) of the function: =-3.&l  ~-.7%  ).§5%Z

c. Relative minimum(s): (O, S5, ‘L'—i?>

d. Relative maximum(s): (' 2.5k, 2.30 >

limfx)=_— OO
e. End behavior: x>0
limfx)=__ OO

X—>+x
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